CC1001-6:  Soluciones Clase Auxiliar 6
1. static public int veces(Object x,Object[]y,int n){
  int c=0;

  for(int i=0; i<n; ++i)

    if(y[i].equals(x)) ++c;

  return c;

}

static public int[] indices(Object x,Object[]y,int n){

  int c=veces(x,y,n);

  int[]ind=new int[c]; int j=0;

  for(int i=0; i<n; ++i)

    if(y[i].equals(x)) ind[j++]=i;

  return ind;

}

static public void main(String[]args)throws IOException{

  int N=100,n=0;

  String[]palabras=new String[N];

  int n=U.leerLineas(N,”palabras.txt”,palabras);

  int[]ind=indices(palabra,U.readLine(“palabra?”),n);

  for(int i=0; i<ind.length; ++i)

    U.println(“en linea “ + ind[i]);

}  

2. static public int indice(Comparable x,Comparable[]y,int ip,int iu){

   //búsqueda recursiva hasta que lo encuentre (o no esté)

   if(ip>iu) return -1; //no está

   int im=(ip+iu)/2;

   int c=x.compareTo(y[im]);

   if(c<0) return indice(x,y,ip,im-1);

   if(c>0) return indice(x,y,im+1,iu);

   //búsqueda de primera aparición

   int i;

   for(i=im-1; i>=0; --i)

     if(!y[i].equals(x)) break;

   return i+1;

  }
3. static public Object mediana(Comparable[]x,int n){

  for(int i=0; i<n; ++i){

    Comparable m=x[i]; int menores=0, mayores=0;

    for(int j=0; j<n; ++j)

      if(j!=i)

        if(x[j].compareTo(m)<0) ++menores;

        else if(x[j].compareTo(m)>0) ++mayores;

    if(Math.abs(mayores-menores)<=1) return m;

  }

  return null;

}    
4. static public Comparable moda(Comparable[]x,int n){

  Comparable m; int frecMax=0;

  for(int i=0; i<n; ++i){

    int frec=0;

    for(int j=i+1; j<n; ++j)

      if(x[j].equals(x[i])) ++frec;

    if(frec>frecMax){frecMax=frec; m=x[i];}

  }

  return m;}
